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(ii) Figures to the right indicate full marks.

1. (A) Identify and analyse the structure of any fwo of the following phrases
drawing tree diagrams for each : 4

@) The new car in the garden
(z1)  Very sad

(tit)  Of the country

(tv)  Could not understand.

(B)  Say whether the following sentences are correct. Comment on their
incorrectness if (any two) : 4

@) One of the workman is ill.
(zz)  Rushi is senior than Ishita.
(t11) ~ Mahesh likes a honest friend.
(v)  She played well, isn’t it ?

2. (A)  Identify the subordinate clauses in any two of the following sentences
specifying ‘form’ and ‘function’ for each : 4

(@) I would like what I usually eat.
@)  That she has won the prize surprised me.
(zit)  The boy who is waiting for the train is my brother.

(v) I cannot understand why she is waiting there.
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Comment on the difference in form and meaning of the sentences in

the following pairs (any two) : 4
@) There is a little water in the tank.
There is little water in the tank.
(1) It may create problems.
It might create problems.
(z11)) Rushi writes a poem.
Rushi is writing a poem.
(v) The police arrested the thief.

The thief was arrested by the police.

Analyse any two of the following sentences into their constituent parts,

using functional and formal class labels for each : 4
(@) Ishita is my sister.
(it)  Sachin runs slowly.
(z11) ~ Children love ice-cream.
(v) We appointed Priyanka our class representative.
Combine each of the following pair of sentences to form a single sentence
(any two) : 4
(@) Sangita is rich.
Sangita helps the poor.
(@) ~ The note book is on the bench.
It belongs to her.
(zit) ~ The boy wants to see the headmaster.
He is waiting at the door.
(tv)  He is too fat.

He cannot walk.
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4, (A)  Explain the ambiguity in any two of the following : 4
() They are Russian teachers.
(i) Ramesh and Ruchita are married.
(it1) He loves the cat more than his wife.
(fv) She made her husband an omelette.

(B) Comment on the process of word formation in any two of the
following : 4

() Incomplete
(@)  Wanted
(it1) Postman
(tv) Encouragement.
5. Write short notes on any two of the following : 8
@ Object
(1) Verb phrase
(ziz)  Morphemes

(tv)  Features of Indian English.
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